PFas =z / M2 — .
BHNTFE B8 £\ -8 (VEFR)
LA 7ES5818 R’
FRE 15 24 3F 45 55 64 &3 SR
59 76 64 14 80 76 432
\ e s | RES Bl 5 |BxEn| 5 [zl 7 |BxEn| 5 [wueal 5 |Bxem| 3 wxEs | 30 fuxyd]
AT HE—INFR 64 | 81 | 71 | 82 [ 8 | 79 262 | =
Sl 2 3 2 3. 3 3 16 271
51 62 63 77 62 62 377
. s — st [RER B2k 8 [wxem| o] wxym| s [wxzm| 7 [Bxn] 7 [Bxen] 6 | B3R | 46 |uxyw]
AT BINFR 50 | 72 | 71 | 84 | 60 | 68 223 | -
zgal o | 2 [ 2 1 3 [ 2 T 2 13120
87 99 98 123 93 119 619
. pam—— Le=A T B T R s R SR N D P EET R BN IR =D |
BT B=NFR 103 111 109 133 or 129 632 9
S HREL 3 3 3_ 4 3 4 20 29 |
118 105 135 131 134 140 763
\ s e IRES | B22m] o [Bxem| 6 [wxym| oo wzzm| o [Bxsmp] 3 [Bxzk] o] ®x3% | 56 |sxyd]
AT BONFR 127 | 111 | 1655 | 140 | 137 | 149|819 [ =
SR EN 4 3 4 4 4 5 24 32
44 57 42 58 S7 40 298
N RO REH [ wxxm] 5 [Bx3m| 5 [wxen] 5 [wxyn] 6 [wx3m| s [wxz6] 3] wx3m | 32 Isxxw]
AN 70 | 62 | 47 | 64 | 65 | 43 330_| s
zgaml 2 | 2 | o 1 2 [ 2 T 2 12 117
18 31 13 26 26 31 145
RO REH | wxem]| 7 [wym| 4 [wmyn| s [Be3e] 4 [Been] 4 [B2en] 5| 23R | o7 Pz
P 25 | 35 | 16 | 30 | 30 | 36 72 |+
SR EN 1 1 1 1 1 1 (&) 10
28 32 29 27 40 39 195
N N st PREH|Bxzn] 15| w23m| 6 |Bxen] 8 [wxym] 7 [wx3m| 4 [Bx26] s #wx3m | 48 |szxw]
AIEBETBNFR 73 | 38 | 37 | 24 | 44 | 47 243__| -
E e I T O 2 | 2 o 176
57 75 73 71 80 78 434
=03\ 4% RBH [ wxzm| 10| Bx3m| 14| xzn] 14 m22m] o [Bx3m| 5 |Bxz6]| o] ®x3m | 61 |sxrw]
PR 67 | 89 | 87 | 80 | 85 | 87 495 5
SRNEN 2 3 3. 3 3 3 a7 26
90 94 87 102 112 108 593
— 1\ REH [ wxxm] 14| B23m| 12]wx26] o [w=¥m] 10]wx3m| 4 [Bx26] 0] #Bx3m | 5o Isxzw]
RPINFH 104 106 96 112 116 118 652 8
SR 3 3 3. 3 4 4 20_ 28 |
28 32 27 23 31 36 177
. Zn st PREH|mxzm] o [Bx3m| 5 |Bxeal 8 [wxzn] 5 [Bxzm| 5 w2zl o] wxzm | 27 Isxew]
AIEERINF 30 | 37 | 35 | 28 | 36 | 38 204 | 5
SHRE 1 1 _1 _1 a1 2 7 12
46 43 56 59 S7 57 318
N REH [ wxm] 5 |Bx3m| 16]wx26] 6 [wxywm] 5 [wx3m| 4 [Bx26] 3] wx3m | 30 Isxxa]
HIARNFR 51 | 59 | 62 | 64 | 61 | 60 357 | e
zgml o | o [ o 1 o [ o T 2 12 178
39 40 41 53 45 46 264
N REH [ wxzm| 7 B3| 7 |wxea] 5 [wxrn] 3 B3] 4 [Bxz6] s ®Bx3m | 34 |sxrw]
WA 76 | 47 | 46 | 56 | 49 | 54 208 | 5
SHRE 2 2 2 2 2 2. 12 17
22 20 22 22 19 25 130
RO RE | wxem| 5 [wxem| o [wxznl 1 [B230] 6 [Bxn] 1 [Bxew] o] w23m | 17 |Isxed]
hERINFR 27 | 22 | 23 | 28 | 20 | 27 147 | =
S 1 1 1 1 1 1 (&) O
687 (66 750 849 836 857 4745
AR\ =t RBH [ wx2r] 108 B340 104] 22| 105| 2248|806 | w2 3m| 58| k| Ta] wxFm | 539 |werw]
=0 795 870 855 935 894 935 5284 81
Sl 27 27 27 30 30 33 174 2595]




BMNTEE  RBE - A8 (PFER)

HA7TESH18 IRE

FRB 14 2% 3% &: SR
268 232 280 780
IR P chass ERE | wem| 15| wem| 16| m256m| 11 Tl Ty —
AT 283 | 248 | 291 822 7
SEREL 7 7 8 22 29
124 107 136 367
EER | Eem| 2 |msmk| o |wsm| 12 Bl | 23 Peessl
il desl i
o= 126 | 116 | 148 390 2
SEREL 4 3 4 11 15
53 52 55 160
EER | w8 [w=smk| 3 |w2smn| 4 HRSHR 15 P=sng
==} va
DI 61 55 | 59 175 3
SEREL 2 2 2 6 9
64 85 90 239
EEH | sem| 16| m=5k| 5 |w2sk| 8 wm | 20 Pexssl
N AN 24475
HILEPFE 80 90 o8 268 5
SEREL 2 3 3 8 13
147 165 146 458
FER | sem| 5 |m=sn| s |wsmk| 10 wm | 23 Pexss]
= 24475
AFEPIH 152 | 173 | 156 481 2
SERER 4 5 5 14 18
197 191 195 583
S ER | msm| 16| w2k 7 | En] 11 wm | 34 Pexss)
24475
SERS 213 | 198 | 206 617 5
SR 5 6 6 17 22
853 832 902 2587
HER | m2em| 62 | Bk 48| x23k| 56 Bl | 166 Prexsn)
[ v
AR REE 915 | 880 | 958 5753 | ==
2mE| 24 26 28 78 106
7332
e wem | 705 fress]
sk St |EER T il
FEWJ ¢'¥$X|:| 3037 00
SR 252 361




